RHI#w

AOSR TL—=RH1I CILITL— d—X EUB=FDE FEAT,BT(KB)
START | «#7| Player A Index Hdcp Player B Index Hdcp Player C Index Hdcp Player D Index Hdcp
1 700 | 657 | AL £ 3.4 6 F £ & 4.8 8 EH BE 7.8 12 N Bt 8.1 12
2 706 | 703 | Hi BER 4.4 8 sl B’ 5.1 8 B & i 7.5 11 B ¥-— 9.0 13
3 712 | 700 | i i 2 4.4 8 ARHEE 6.1 10 £ ) ¥ 7.9 12 e 9.6 14
4 7:18 | 7:15 5T S i& 3.2 6 XA B 3.7 7 FE =B 7.2 11 k& HZ 10.3 15
5 7:24 | 7:21 i & 4.2 7 w\mAK RB 5.6 9 H 8% 8.2 12 m B i3 10.4 15
6 730 | 727 | §§ K 13 5.3 9 kaXE2Z 5.8 9 H B 6.1 10 =)l 48 8.0 12
BUS X TL—R51I) ©ILITL— d—X FOE=H & EB>T<RT(A)
START 7147 | Player A Index Hdcp Player B Index Hdcp Player C Index Hdcp Player D Index Hdcp
1 700 | 657 | K # E 11.7 13 AXHEH BB 14.3 16 ER =z 15.0 16 i S A 15.4 17
2 7:06 | 7:03 He & 13.9 15 W BT 14.5 16 AH E3h 15.5 17
3 712 | 700 | @ B E 12.0 13 =X &A 122 13 mE EFX 242 27
TF TL—RI1IN FvT«14TL— J—X & E=EUh EBATLT(F)
START F4AT Player A Index Hdcp Player B Index Hdcp Player C Index Hdcp Player D Index Hdcp
1 7:00 | 6:57 B & & 7.9 TXEL®& 8.5 R W 3 112 BEH LR 12.0
2 7:06 | 7:03 A B = 6.4 BAX T8 13.0 rE == 16.1
3 7:12 | 7:09 W ==& 7.8 hEaEH 105 BaEOE 125
4 718 | 715 | MHENRF 7.5 e F4 108 EH & 12.4

X8A1HDA 2TV IREFEALTHEDET,
XRIBEDHIEIES. HEEZEEIBILEITNET,
miREER =B BE




